

ALL BIDS SUBMITTED FOR THE DESIGNATED PROJECT ARE REFLECTED ON THIS BID TAB SHEET. HOWEVER, THE LISTING OF A BID ON THIS SHEET SHOULD NOT BE CONSTRUED AS A COMMENT ON THE RESPONSIVENESS OF SUCH A BID OR AS ANY INDICATION THAT THE CITY ACCEPTS SUCH BID AS RESPONSIVE.

THE CITY WILL MAKE A DETERMINATION AS TO THE RESPONSIVENESS OF BIDS SUBMITTED BASED UPON COMPLIANCE WITH ALL APPLICABLE LAWS, CITY OF ALLEN PURCHASING GUIDELINES, AND PROJECT DOCUMENTS INCLUDING BUT NOT LIMITED TO THE PROJECT SPECIFICATIONS AND CONTACT DOCUMENTS. THE CITY WILL NOTIFY THE SUCCESSFUL BIDDER UPON AWARD OF THE CONTACT AND ACCORDING TO LAW, ALL BIDS RECEIVED WILL BE AVAILABLE FOR INSPECTION AT THAT TIME.

ROAD MASTER STRIPING, LLC	TOTAL HIGHWAY MAINTENANCE, LLC	ACTION COMMERCIAL SERVICES, LLC
---------------------------	-----------------------------------	------------------------------------

THER ITEM NO.		STIC PA UNIT	AVEMENT MARKINGS (Surface preparation does not inc DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	g striping)  EXTENDED  AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	5,000	LF	Furnish and Install Solid White or Yellow Traffic Paint (4") including surface preparation, complete and in place, for the sum of	\$0.40	\$2,000.00	\$0.35	\$1,750.00	\$0.27	\$1,350.00
2	5,000	LF	Furnish and Install Solid White or Yellow Traffic Paint (6") including surface preparation, complete and in place, for the sum of	\$0.60	\$3,000.00	\$0.45	\$2,250.00	\$0.35	\$1,750.00
3	3,000	LF	Furnish and Install Solid White or Yellow Traffic Paint (8") including surface preparation, complete and in place, for the sum of	\$0.80	\$2,400.00	\$0.55	\$1,650.00	\$0.57	\$1,710.00
4	1,000		Furnish and Install Solid White or Yellow Traffic Paint (12") including surface preparation, complete and in place, for the sum of	\$1.50	\$1,500.00	\$2.50	\$2,500.00	\$1.50	\$1,500.00
5	500	LF	Furnish and Install Solid White or Yellow Traffic Paint (24") including surface preparation, complete and in place, for the sum of	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$2.25	\$1,125.00
6	10	EA	Foot  Furnish and Install Solid White Traffic Paint (Word)  "ONLY" including surface preparation, complete and in place, for the sum of	\$55.00	\$550.00	\$75.00	\$750.00	\$35.00	\$350.00
7	15	EA	Furnish and Install Solid White Traffic Paint (Arrow) (Right, Left, U-Turn, or Straight) including surface preparation, complete and in place, for the sum of	\$50.00	\$750.00	\$60.00	\$900.00	\$35.00	\$525.00
8	2,500	LF	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (4") including surface preparation, complete and in place, for the sum of	\$0.75	\$1,875.00	\$0.60	\$1,500.00	\$1.10	\$2,750.00
9	2,500	LF	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (6") including surface preparation, complete and in place, for the sum of	\$1.12	\$2,800.00	\$0.70	\$1,750.00	\$1.20	\$3,000.00
10	1,000	LF	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (8") including surface preparation, complete and in place, for the sum of	\$1.50	\$1,500.00	\$0.85	\$850.00	\$1.50	\$1,500.00
11	500		Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (12") including surface preparation, complete and in place, for the sum of	\$3.75	\$1,875.00	\$3.50	\$1,750.00	\$3.00	\$1,500.00
12	500	LF	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (24") including surface preparation, complete and in place, for the sum of	\$7.50	\$3,750.00	\$6.25	\$3,125.00	\$6.00	\$3,000.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
13	500	LF	Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (4") including surface preparation, complete and in place, for the sum ofDollars &Cents Per Linear Foot	\$0.75	\$375.00	\$0.60	\$300.00	\$1.10	\$550.00
14	50	LF	Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (12" x 18" Yield Line) including surface preparation, complete and in place, for the sum of	\$6.00	\$300.00	\$7.00	\$350.00	\$28.00	\$1,400.00
15	50	LF	Furnish and Install Hot Applied Thermoplastic Solid Yellow Pavement Markings (24" x 36" Yield Line) including surface preparation, complete and in place, for the sum of	\$12.00	\$600.00	\$9.00	\$450.00	\$32.00	\$1,600.00
16	15	EA	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Word) "ONLY" including surface preparation, complete and in place, for the sum ofDollars &Cents per Each	\$185.00	\$2,775.00	\$135.00	\$2,025.00	\$115.00	\$1,725.00
17	15	EA	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Arrow) (Right, Left, U-Turn, or Straight) including surface preparation, complete and in place, for the sum ofDollars &Cents per Each	\$195.00	\$2,925.00	\$125.00	\$1,875.00	\$105.00	\$1,575.00
18	50	EA	Furnish and Install Hot Applied Thermoplastic Solid White Pavement Markings (Sharks Teeth / Yield Triangles) including surface preparation, complete and in place, for the sum of	\$35.00	\$1,750.00	\$85.00	\$4,250.00	\$25.00	\$1,250.00
19	2,500	LF	Remove Traffic Paint (4") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.25	\$625.00	\$0.50	\$1,250.00	\$0.60	\$1,500.00
20	2,500	LF	Remove Traffic Paint (6") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.38	\$950.00	\$0.60	\$1,500.00	\$0.80	\$2,000.00
21	1,000	LF	Remove Solid Traffic Paint (8") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.50	\$500.00	\$0.70	\$700.00	\$1.20	\$1,200.00
22	1,000	LF	Remove Solid Traffic Paint (12") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.75	\$750.00	\$1.50	\$1,500.00	\$1.40	\$1,400.00
23	500	LF	Remove Solid Traffic Paint (24") (this is not surface preparation for other items), complete and in place, for the sum of	\$1.50	\$750.00	\$2.50	\$1,250.00	\$2.00	\$1,000.00
24	10	EA	Remove Solid White Traffic Paint (Word) "ONLY" (this is not surface preparation for other items), complete and in place, for the sum of	\$15.00	\$150.00	\$35.00	\$350.00	\$35.00	\$350.00
25	10	EA	Remove Solid White Traffic Paint (Arrow) (Right, Left, U-Turn, or Straight) (this is not surface preparation for other items), complete and in place, for the sum of	\$20.00	\$200.00	\$30.00	\$300.00	\$35.00	\$350.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
26	500	LF	Remove Hot Applied Thermoplastic Solid Pavement Markings (4") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.50	\$250.00	\$0.50	\$250.00	\$0.65	\$325.00
27	500	LF	Remove Hot Applied Thermoplastic Solid Pavement Markings (6") (this is not surface preparation for other items), complete and in place, for the sum of	\$0.75	\$375.00	\$0.60	\$300.00	\$1.00	\$500.00
28	500	LF	Remove Hot Applied Thermoplastic Solid Pavement Markings (8") (this is not surface preparation for other items), complete and in place, for the sum of	\$1.00	\$500.00	\$0.70	\$350.00	\$1.30	\$650.00
29	300	LF	Remove Hot Applied Thermoplastic Solid Pavement Markings (12") (this is not surface preparation for other items), complete and in place, for the sum of	\$1.50	\$450.00	\$1.50	\$450.00	\$1.80	\$540.00
30	200	LF	Remove Hot Applied Thermoplastic Solid Pavement Markings (24") (this is not surface preparation for other items), complete and in place, for the sum of	\$3.00	\$600.00	\$2.50	\$500.00	\$2.00	\$400.00
31	5	LF	Remove Hot Applied Thermoplastic Pavement Markings (12" x 18" Yield Line) (this is not surface preparation for other items), complete and in place, for the sum of	\$5.00	\$25.00	\$20.00	\$100.00	\$15.00	\$75.00
32	5	LF	Remove Hot Applied Thermoplastic Pavement Markings (24" x 36" Yield Line) (this is not surface preparation for other items), complete and in place, for the sum of	\$10.00	\$50.00	\$7.00	\$35.00	\$15.00	\$75.00
33	5	EA	Remove Hot Applied Thermoplastic Pavement Markings (Word) (this is not surface preparation for other items), complete and in place, for the sum of	\$25.00	\$125.00	\$35.00	\$175.00	\$45.00	\$225.00
34	5	EA	Remove Hot Applied Thermoplastic Pavement Markings (Arrow) (Right, Left, U-Turn, or Straight) (this is not surface preparation for other items), complete and in place, for the sum of	\$45.00	\$225.00	\$30.00	\$150.00	\$45.00	\$225.00
35	50	EA	Remove Hot Applied Thermoplastic Pavement Markings (Sharks Teeth / Yield Triangles) (this is not surface preparation for other items), complete and in place, for the sum of	\$25.00	\$1,250.00	\$20.00	\$1,000.00	\$10.00	\$500.00
36	1,500	LF	Furnish and Install Solid Red Fire Lane Traffic Paint (6") With "FIRE LANE" (4") And/Or "NO PARKING" (4") Alternating Every Fifty (50) Feet On Curb-Face Or Pavement, As Directed By The Engineer, Including surface preparation, complete and in place, for the sum of	\$0.45	\$675.00	\$2.00	\$3,000.00	\$0.22	\$330.00
37	1,500	LF	Furnish and Install Solid White Traffic Paint (6") With "VISITOR" (4") And/Or Other Text (4") to be determined by the Engineer Every Ten (10) Feet On Curb-Face Or Pavement, As Directed By The Engineer, Including surface preparation, complete and in place, for the sum of	\$1.00	\$1,500.00	\$2.00	\$3,000.00	\$0.27	\$405.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
38	100	SF	Furnish and Install 3M Stamark 270 ES Pavement Marking Tape for crosswalks and stop bars, including surface preparation, complete and in place, for the sum of	\$15.75	\$1,575.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
39	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – <b>ARROW</b> symbol, complete and in place, for the sum of	\$266.40	\$1,332.00	\$425.00	\$2,125.00	\$220.00	\$1,100.00
40	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – SCHOOL legend, complete and in place, for the sum of	\$741.30	\$3,706.50	\$825.00	\$4,125.00	\$500.00	\$2,500.00
41	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – <b>BUS</b> legend, complete and in place, for the sum ofDollars &Cents per Each	\$500.00	\$2,500.00	\$625.00	\$3,125.00	\$415.00	\$2,075.00
42	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – <b>PED</b> legend, complete and in place, for the sum ofDollars &Cents per Each	\$500.00	\$2,500.00	\$650.00	\$3,250.00	\$415.00	\$2,075.00
43	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – STOP legend, complete and in place, for the sum of	\$532.80	\$2,664.00	\$500.00	\$2,500.00	\$365.00	\$1,825.00
44	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – <b>SLOW</b> , complete and in place, for the sum ofDollars &Cents per Each	\$532.80	\$2,664.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
45	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – YIELD, complete and in place, for the sum of	\$868.70	\$4,343.50	\$675.00	\$3,375.00	\$720.00	\$3,600.00
46	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – ONLY, complete and in place, for the sum of	\$428.55	\$2,142.75	\$650.00	\$3,250.00	\$380.00	\$1,900.00
47	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – MPH, complete and in place, for the sum of	\$500.00	\$2,500.00	\$550.00	\$2,750.00	\$420.00	\$2,100.00
48	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – MERGE, complete and in place, for the sum of	\$955.00	\$4,775.00	\$675.00	\$3,375.00	\$650.00	\$3,250.00
49	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – <b>BIKE</b> , complete and in place, for the sum ofDollars &Cents per Each	\$260.00	\$1,300.00	\$950.00	\$4,750.00	\$520.00	\$2,600.00
50	5	EA	Furnish and Install 3M Stamark 270 ES for symbols and legends – LANE, complete and in place, for the sum ofDollars &Cents per Each	\$868.00	\$4,340.00	\$575.00	\$2,875.00	\$850.00	\$4,250.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
51	100	SF	Furnish and Install 3M Stamark 380 AW Pavement Marking Tape for crosswalks and stop bars, including surface preparation, complete and in place, for the sum ofDollars &Cents per Square Foot	\$25.00	\$2,500.00	\$10.00	\$1,000.00	\$12.00	\$1,200.00
52	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>ARROW</b> symbol, complete and in place, for the sum of	\$457.50	\$2,287.50	\$425.00	\$2,125.00	\$300.00	\$1,500.00
53	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – SCHOOL legend, complete and in place, for the sum of	\$1,200.00	\$6,000.00	\$825.00	\$4,125.00	\$925.00	\$4,625.00
54	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>BUS</b> legend, complete and in place, for the sum ofDollars &Cents per Each	\$1,000.00	\$5,000.00	\$625.00	\$3,125.00	\$740.00	\$3,700.00
55	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>PED</b> legend, complete and in place, for the sum ofDollars &Cents per Each	\$1,000.00	\$5,000.00	\$650.00	\$3,250.00	\$740.00	\$3,700.00
56	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – XING legend, complete and in place, for the sum ofDollars &Cents per Each	\$799.20	\$3,996.00	\$675.00	\$3,375.00	\$600.00	\$3,000.00
57	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – STOP legend, complete and in place, for the sum ofDollars &Cents per Each	\$833.97	\$4,169.85	\$500.00	\$2,500.00	\$550.00	\$2,750.00
58	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>SLOW</b> , complete and in place, for the sum of	\$1,000.00	\$5,000.00	\$500.00	\$2,500.00	\$870.00	\$4,350.00
59	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>YIELD</b> , complete and in place, for the sum ofDollars &Cents per Each	\$1,413.10	\$7,065.50	\$675.00	\$3,375.00	\$1,190.00	\$5,950.00
60	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – ONLY, complete and in place, for the sum of	\$735.60	\$3,678.00	\$650.00	\$3,250.00	\$600.00	\$3,000.00
61	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – MPH, complete and in place, for the sum of	\$1,007.70	\$5,038.50	\$550.00	\$2,750.00	\$725.00	\$3,625.00
62	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – MERGE, complete and in place, for the sum of	\$1,552.10	\$7,760.50	\$675.00	\$3,375.00	\$1,100.00	\$5,500.00
63	5	EA	Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>BIKE</b> , complete and in place, for the sum ofDollars &Cents per Each	\$425.55	\$2,127.75	\$950.00	\$4,750.00	\$650.00	\$3,250.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
64	5		Furnish and Install 3M Stamark 380 AW for symbols and legends – <b>LANE</b> , complete and in place, for the sum of	\$1,000.00	\$5,000.00	\$575.00	\$2,875.00	\$600.00	\$3,000.00
65	300		Furnish and Install Sharrow Street Marking (Shared-Lane Marking), complete and in place, for the sum of	\$305.90	\$91,770.00	\$650.00	\$195,000.00	\$300.00	\$90,000.00

**TOTAL THERMOPLASTIC PAVEMENT MARKINGS:** 

<u>\$234,911.35</u>

\$323,060.00

<u>\$210,135.00</u>

RAISED PAVEMENT MARKINGS (Surface preparation shall include removal of extraneous material (i.e. glue, oil, existing

buttons, etc. ) and to clean solid concrete or asphalt)

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
1	1,000	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type I-A Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$3.75	\$3,750.00	\$3.75	\$3,750.00	\$3.20	\$3,200.00
2	1,001	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type I-C Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$3.75	\$3,753.75	\$3.75	\$3,753.75	\$3.20	\$3,203.20
3	1,002	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-A-A Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$3.75	\$3,757.50	\$3.75	\$3,757.50	\$3.20	\$3,206.40
4	10	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-A-R Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$4.00	\$40.00	\$3.75	\$37.50	\$3.20	\$32.00
5	1,004	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-C-C Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$4.00	\$4,016.00	\$3.75	\$3,765.00	\$3.20	\$3,212.80
6	1,005	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-C-R Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$3.75	\$3,768.75	\$3.75	\$3,768.75	\$3.20	\$3,216.00
7	1,006	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type W) including surface preparation, complete and in place, for the sum of	\$3.50	\$3,521.00	\$3.50	\$3,521.00	\$3.20	\$3,219.20
8	1,007	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type Y) including surface preparation, complete and in place, for the sum of	\$3.50	\$3,524.50	\$3.50	\$3,524.50	\$3.20	\$3,222.40
9	50	EA	Furnish and Install with Epoxy Raised Acrylic Pavement Markers (Type II-B-B Reflectorized Marker) including surface preparation, complete and in place, for the sum of	\$10.00	\$500.00	\$9.00	\$450.00	\$10.00	\$500.00

ITEM NO.	EST QNTY	UNIT	DESCRIPTION AND PRICE IN WORDS	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT	UNIT PRICE IN FIGURES	EXTENDED AMOUNT
10	200	EA	Furnish and Install with Epoxy Raised Channelizing Traffic Ceramic Round Buttons (6") including surface preparation, complete and in place, for the sum of	\$15.00	\$3,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00
11	200	EA	Furnish and Install with Epoxy Raised Channelizing Traffic Ceramic Round Buttons (8") including surface preparation, complete and in place, for the sum of	\$50.00	\$10,000.00	\$30.00	\$6,000.00	\$40.00	\$8,000.00
12	100	EA	Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type I-A Reflectorized) including surface preparation, complete and in place, for the sum of	\$16.00	\$1,600.00	\$35.00	\$3,500.00	\$40.00	\$4,000.00
13	100	EA	Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type I-C Reflectorized) including surface preparation, complete and in place, for the sum of	\$16.00	\$1,600.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00
14	50	EA	Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type W Nonreflectorized) including surface preparation, complete and in place, for the sum of	\$15.00	\$750.00	\$20.00	\$1,000.00	\$40.00	\$2,000.00
15	50	EA	Furnish and Install with Epoxy 6" Raised Acrylic Jiggle Bar Tile (Type Y Nonreflectorized) including surface preparation, complete and in place, for the sum of	\$15.00	\$750.00	\$20.00	\$1,000.00	\$40.00	\$2,000.00
16	2,000	EA	Remove Raised Pavement Markers or Buttons Including glue to existing pavement, complete and in place, for the sum of	\$1.00	\$2,000.00	\$1.50	\$3,000.00	\$1.00	\$2,000.00
17	100	EA	Remove Raised Jiggle Bar Tile including glue to existing pavement, complete and in place, for the sum of Dollars &Cents per Each	\$5.00	\$500.00	\$15.00	\$1,500.00	\$6.00	\$600.00

<u>TOTAL RAISED PAVEMENT MARKINGS:</u> \$46,831.50 \$48,828.00 \$49,612.00

#### PROPOSAL SUMMARY

TOTAL THERMOPLASTIC PAVEMENT MARKINGS:	\$234,911.35	\$323,060.00	\$210,135.00
TOTAL RAISED PAVEMENT MARKINGS:	\$46,831.50	\$48,828.00	\$49,612.00

<u>TOTAL BID</u> <u>\$281,742.85</u> <u>\$371,888.00</u> <u>\$259,747.00</u>